00} FWALR BB MY|(S5IER) M (F) DM A==

Rotary—Feeding device for high—pressur cutting ol """"W-beSt""s”"g com

o 1Q AR QIME HE AL A|AHI0) 2f5t
TOOL LIFE 7HM,

o et EXZ|of 2fgt FFHQ At

H. 7[158IsA Angle Adaptor Straight Adaptor

=ﬂm

“"\ il

—=— [
3 7t
100mm ~ 600mm M5 X 0.8P M5 X 0.8P
« 170 Q70| OJEt HE MI&t Ths M6 X 1.0P M6 X 1.0P
M8 X 1.0P M8 X 1.0P
PT 1/8 PT 1/8

H. 7123 A SET

o AISF 7152 EEX|

4, F2/of <

e Angle adaptor £}, 3
SA HI5E M310| 7HH,

¢ 30~200 bariX| M 7}s=.

* M7 AIO|= 2|9 SA 2l gdaptor= &2| & MIE 7Hs.

540 FZH /=5 JINSUNG EUROTEC CO.,LTD.




W73 BAR 2T AL & (F Y f==

Tool—holders with internal coolant www.bestjinsung.com

Nozzy system for SEQIF* Citizen

Wedge for standard position

Wedge for cutting position

< AEID AR HE

=2 /7 e = Z|0|ENA T HALS AL HIAL
e D= Tool maker2| £ 2 QIME RIEH JHs,
| «EHARHE U: ZE LS.

Coolant inlet: M8x1 Nozzle opening: @1,2 mm Precise coolant on the cutting edge

Tool—holder system (made BIMU) Tool—-holder system (made JINSUNG)

222 W

¢ SIZE : 8mm~16mm
¢ 2|4 ISO #Z4 4! DIAMETAL, BIMU, ARNO
= kst coolant 2 A&

ARNO Parting system Sub—Holder system
(with coolant)

o AE} TS

orga|s 9 s

o513t MHIg = 2RE0|n
ERAL HIZS ML RIS,

« AN IO EC| AT S

onO T
Mz 7ks.

ko[>

12mm 2E SA|

<) X| A .o =Eil
EE) o= 541




. f.britsch @. () ZIM ==

MUIti hOIder system www.bestjinsung.com

Multitube of different types

* SHLEC| 2301 head HA EtRIC=Z Hoh= 202

o+/— 0.4 ME

2™ 7ts

o Tk

Coolant shank
\/ <—|

Bimu 040 type Threading insert 16ER
g

4
\g

&

SDNC , SDJC TYPE

Tool holder 10X10 , 12X12 ER11 / ER 16, lfanger Boring

e

.

min. 15.5
3

X 50 £ il iaabdap

OO - DD = Erfﬁ  EES ]
J AL | ;

T ol R : HRIE ;

17 |17

23

47 58

542 &M /=5 JINSUNG EUROTEC CO.,LTD.




. f.britsch TORQUE SPANNER

ER Type E3 AnfiL

AFHEX|

- kR0 945101 0]BE U &
o

ES o
- TORQUE7 Falixf U0 ehed st 2oz HIZA 7ts.

Picture 1
&J\‘\ [y |
&J S— |
L
I Order-no. | Nut | Picture I For tool @ in mm | Torque (Nm) I Complete length || Order-no. | Nut | Picture | For tool g in mm | Torque (Nm) | Complete length
RFSE08NMM ERO8M 1 1,0-50 8 120 RFSE1INMUM UM/ER11 2 30-70 18 330
RFSE1INMMS ER11M 1 1,0-29 9 120 RFSE16NMUM  UM/ER16 2 4,0-10,0 35/ 55 330
RFSE1INMM ER11M 1 30-7,0 18 120 RFSE16NMUX UX/ER16 3 4,0-10,0 35155 330
RFSE16NMMS ER16M 1 15-35 20 120 RFSE20NMUM  UM/ER20 2 15-13,0 40 /70 330
RFSE16NMM ER16M 1 4,0-10,0 28 120 RFSE20NMUX UX/ER20 3 15-13,0 40/ 70 330
RFSE20NMM ER20M 1 15-130 3% 130 RFSE25NMUM ~ UM/ER25 3 40-170 55 /90 390
RFSE25NMM ER25M 1 40-170 40 130 RFSE32NMUM  UM/ER32 3 30-220 70 1130 395
Collet Reduction Sleeves with Cap Nut UF - =272 Zo7t sz uf 22|12 &% 7ts
N
il Bild 2
‘ order-no. ‘ cone | collet cap nut, thread M | A, | A, | L, | L, ‘ L | G ‘
EQ11M/ER08 ERM1 ERO08 M13 x 0,75 12 19 8 28 M4
EQ11/ER08 ER11 ERO8 M14 x 0,75 12 20 8 28 M4
EQ11M/ER16M ERM ER16 # M13 x 0,75 22 19 27 47 -
EQ11/ER16M ER11 ER16 # M14 x 0,75 22 20 27 47 -
EQ11M/ER16 ERM1 ER16 # M13 x 0,75
EQ11/ER16 ER11 ER16 # M14 x 0,75 22 20 38 41 56 -
EQ16M/F8L ER16 F8 M19 x 1 20 SW22 50,5 53,5 70 M8
EQ16/F8L ER16 F8 M22x1,5* 20 28 50,5 53,5 70 M8
EQ16M/F8 ER16 F8 M19 x 1 20 SW22 31 34 53 M8
EQ16/F8 ER16 F8 M22x1,56* 20 28 31 34 53 M8
EQ16M/ER08M ER16 ER08 M19 x 1 12 SW22 27 30 48 M8
EQ16/ERO8M ER16 ERO8 M22 x 1,5 12 28 27 30 48 M8
EQ16M/ERO8ML ER16 ERO8 M19 x 1 12 SW22 44 47 66 M8
EQ16/ERO8ML ER16 ER08 M22 x 1,5 12 28 44 47 66 M8
EQ16M/ER08M-HS207** ER16 ER08 M19 x 1 12 SW22 M8
EQ16/ER08M-HS207** ER16 ERO8 M22 x 1,5 12 28 M8
EQ16M/ER11M ER16 ER11 M19 x 1 16 SW22 16 19 38 M8
EQ16/ER11M ER16 ER11 M22x 1,5 * 16 28 16 19 38 M8
EQ16M/ER11ML ER16 ER11 M19 x 1 16 SW22 32 35 53] M8
EQ16/ER11ML ER16 ER11 M22x1,5* 16 28 32 35 53 M8
EQ16M/ER11MXL ER16 ER11 M19 x 1 16 SW22 53 56 75 M8
EQ16/ER11MXL ER16 ER11 M22x 1,5 * 16 28 53 56 75 M8
Collet Reduction Sleeves with Standard Nut
nut 2
- nut 1
g
=
NN Ny
\l—érﬂ N
[ B E—
=
EQS16M/ER11M ER16 ER11 ER11M ER16M 16 30 M8x1 22
EQS16/ER11M ER16 ER1M1 ER11M UM/ER16 16 28 M8x1 25

<) X| A .o =Eil
EFHg=" 543




J.S 23] BORING LINE

JSEC (BORING) &=a0|# A4S

5o

- :E_'_'j_'__'i ______________________ _j_

L1

ITEM X278 4 f r D1 L1 D L
206005 2.2 0.95 0.05 147 6 3.0 45
313005 3.2 145 0.05 2.28 13 3.0 50
41501 4.2 1.95 0.1 3.3 15 40 60
52002 5.2 245 0.2 4.2 20 5.0 70
52502 5.2 245 0.2 4.2 25 5.0 70
62502 6.2 2.95 0.2 51 25 6.0 75
63002 6.2 2.95 0.2 51 30 6.0 75

JSEN (BORING) #ealol# gig

.
I e e ——
< ! |
L

ITEM QXA 72A f r D1 L1 D L
31305 3.2 145 0.05 2.28 13 30 50
41501 4.2 1.95 0.1 3.3 15 4.0 60
52002 5.2 245 0.2 4.2 20 5.0 70
62502 6.2 2.95 0.2 51 25 6.0 75

544 &M /=5 JINSUNG EUROTEC CO.,LTD.




J.S 2311 BORING LINE

JSGE(60°), JSGW(55°) (THREADING) Ett 22t}

ITEM PITCH T R D1 D L1 L
310005 0.5~1.0 132 0.05 18 3.0 10 50
413005 0.75~1.25 1.55 0.05 2.6 4.0 13 60
51701 0.8~1.5 1.84 0.1 34 5.0 17 70
62001 1.0~2.0 242 0.1 39 6.0 20 75

JSKO (COPYING) Et! Hain}

L2

&/ _
L1
DETAL "A"

ITEM T T1 f R S(&lzh)| D1 L1 D L2
31301 23 1.0 14 0.1 0.2 19 13 3.0 50
41501 31 13 19 0.1 0.2 2.6 15 4.0 60
52002 41 15 24 0.2 0.3 34 20 5.0 70
62502 48 18 29 0.2 0.3 41 25 6.0 75

<) X| A .o =Eil
KF)Hg=" 545




J.S THREAD MILL

B

141

= = i
M P D1(9) T L1 D2(@) | D(Q) L VA DRILLING(@)
12 0.25 0.93 0.22 3 0.55 3 40 4 0.95~1.0
14 0.3 1.05 0.27 55 0.6 3 40 4 11~115
16 0.35 1.25 0.35 7.5 0.7 3 40 4 1.25~13
18 0.35 144 0.37 7 0.8 3 40 4 145~15
20 04 154 0.34 7 0.98 3 40 4 1.6~1.65
2.5 045 1.96 0.37 8 136 3 40 4 2.05~21
30 0.5 244 043 10 1.65 3 40 4 2.5
4.0 0.7 3.2 0.57 17 222 5 53 4 33
50 0.8 4.08 0.65 10 2.96 5 53 4 4.2
6.0 10 49 0.81 17 35 5 53 4 50
J.S Z2E2| 52HX]|
L
HEX L1
L
e [
=ZHmm) HEX L1 L D

2.5 2.53 3.0 28.2 8

3.0 3.04 40 28.2 8

40 4.05 50 28.2 8

50 5.06 6.0 282 8

6.0 6.06 7.0 28.2 8

546 &M /=5 JINSUNG EUROTEC CO.,LTD.




J.S END MILL

[=%

D (@) d (@) L2 (mm) Z e H|ZE
1 3 3 27 /37 /47 ° 0
2 3 4 27137/ 4z ° 0
3 3 5 2737/ 4z ° 0
4 4 7 2737/ 4z ° 0
5 5 7 2737/ 4z ° 0
6 6 10 27 /37 /47 ° 0
7 7 14 27137/ 4z ° 0
8 8 12 27/37/ 4z ° 0
9 7 7 27 | 47 0 °
10 7 10 27 | 47 ° 0
10 10 15 27 /37 /47 ° 0
12 10 10 27 ] 47 ° 0
14 10 10 27 | 47 ° °
15 10 12 27 | 47 ° 0
16 10 15 27/ 47 ° 0

o MTER O FERMM

<) X| A .o =Eil
EE) =" 547




.

1. BM 012LX~7 2. HIF Ui LiA} SO

6. SVVC, SVNC

8. ARt HE HESEE

10. E8 24

1. 28 a2=

7

13. 1g &4 14, 7|5 &

15. ERM)HE E3 Anjj{ ¥
OIAHIM

16. B{H, LHE 13 =0

o

17.12 x 16 O{RiE] 18. 258 24

548 (FZMd /=5 JINSUNG EUROTEC CO.,LTD.

10, & MEEL

o=

20, =4t ERZ3




